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of1: 32 LHJUCIH, HlotH
1
Enter an odd number : 3
Node O ( O, O)
Node 1 ( 25.0 , 43.30127018922193 )
Node 2 ( 50 , O )
0 2

02: 58 YLHIMCIH
Enter an odd number : 5 1 3
Node O( O, 0O)
Node 1 { 25.0 , 43.30127018922193 )
Node 2 ( 50 , O
Node 3 ( 75.0 , 43.30127018922193 )
Node 4 ( 100 , 0 ) 0 2 4
03: 72 LHJUCIH,
Enter an odd number : 7 1 3
Node O ( O,
Node 1 ( 25.0 , 43.30127018922193 )
Node 2 ( 50 , O
Node 3 ( 75.0 , 43.30127018922193 ) . . .
Node 4 ( 100 , O ) 0 2 4
Node 5 ( 125.0 , 43.30127018922193 )
Node 6 ( 150, 0 )
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import turtle

turtle.setposition (x, y)
turtle.write (number)

turtle.dot (size)

### (x, y)E 0|5
war AT QKO 2Kt M7

## A RIXI0 27|17t size @ F A2(7]

import math

math.sin (angle)

math.radians (degree)

a = math.sin ( math.radians(60) ) ### 0| S

### sin(angle) #f, angle 2 radian tH%
### degree ZI2 radian 2= Hzt
sin (60° )4t

=0, a = o] &0y
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